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class SqrtSumDecomposition {
public:
vector<ll> arr, buckets;
Ll n, bucketSize;

int bucketIndex(int idx) {
return idx / bucketSize;

}

SqrtSumDecomposition(const vector<ll>& input)

{ = input.size();
bucketSize = sqrt(n) + 1;

arr.resize(n);
buckets.resize(bucketSize + 1, 0);

forl(0, n) {
arr[i] = input[i];
buckets[bucketIndex(i)] += arr[i];
}
}




Ll query(1l 1, 1l r) {
void update(int idx, 1l value) { LL sum = 0;
buckets[bucketIndex(idx)] += value - arr[idx];
arr[idx] = value;
} i1f(startBucket == endBucket) {

forl(l, r + 1) {
sum += arr[i];

int startBucket = bucketIndex(1l);
int endBucket = bucketIndex(r);

}
} else {
forl(1l, (startBucket + 1) * bucketSize)
sum += arr[i];
¥
forl(startBucket + 1, endBucket) {
sum += buckets[1];

}
forl(endBucket * bucketSize, r + 1) {

sum += arr[i];
}
}

return sum;
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